
Four students, from different countries, chose to study in the United Kingdom. Each one chose a subject and a city (where the

university is situated). Find out the nationality of the history student.

1. Exactly one boy and one girl chose a university in a city

with the same initial of their names.

2. A boy is from Australia, the other studies Architecture.

3. A girl goes to Cambridge, the other studies Medicine.

4. Oliver studies Law or is from the USA. He is not from South

Africa.

5. The student from Canada is either a historian or will go to

Oxford.

6. The student from the USA will go to Edinburgh or will

study Medicine.

7. Lucas is not from the USA and will not study History.

8. The student from South Africa is going to Edinburgh or will

study Law.

9. The Canadian is not studying Law.
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Four students, from different countries, chose to study in the United Kingdom. Each one chose a subject and a city (where the

university is situated). Find out the nationality of the history student.

1. Exactly one boy and one girl chose a university in a city

with the same initial of their names.

2. A boy is from Australia, the other studies Architecture.

3. A girl goes to Cambridge, the other studies Medicine.

4. Oliver studies Law or is from the USA. He is not from South

Africa.

5. The student from Canada is either a historian or will go to

Oxford.

6. The student from the USA will go to Edinburgh or will

study Medicine.

7. Lucas is not from the USA and will not study History.

8. The student from South Africa is going to Edinburgh or will

study Law.

9. The Canadian is not studying Law.
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